Model

DN WAR 310 234-M

Approved

Issue Date 13-6-2023 Draw By Liang By / Date
Form No P13-RD-05-Rev01
.. Checked
Description Assembly Instructions Revision Remar 1.0 By YNNG Sheet 01/02

™

¢ CSKSCREW M3.5 x 12 mm

A
B| ¢ CSKSCREW M3.5x 16 mm 40
C| @* CSKSCREW M4 x25mm 5
D | * CSKSCREW M4 x45mm 7

E | ¢ CSKSCREW M4 x 38 mm 5
F | g CSKSCREW M4 x 65 mm 5
G| & JCBC SCREW M6 x 40 mm 6
H| ¢ T/MSSCREW M4x 18 mm 8
1| & METAL SHELF SUPPORT 8
1| /~ HANDLE 205 - 128 METAL 4
K | [ HINGES 28" 3
L | & V-BRACKET 2
M| # CAMNUTI5mm 13
N| ¢ CAMBOLT 13
o} & METAL RUNNER 14" 1

P | €2 WOOD DOWEL M6 x 25 mm 30
Q| PIPE763mm 1

R| o NALL 51
S | &~ ALLENKEY 1

T| D PVCNAILS5/8" 6
U | P8 HINGES 95 A 6
v | O STICKER 20mm 13
W| & ANTITIP STRAP 2
X | & WASHER M6 2
Y | ¢ CSKSCREW M4 x 20mm 2

1

N
Vi a VI

Py
A7
/ 4})\%’/




Model

DN WAR 310 234-M

A d
Issue Date 13-6-2023 Draw By Liang BIy)p/rgie
Form No P13-RD-05-Rev01
.. Checked
Description Assembly Instructions Revision Remar 1.0 By YNNG Sheet 02/02

Cover Cam Nut with Sticker

\©

T

=

Wall Plug

e.

- Wall screw and wall plug are not provided.
Please use appropriate fixtures for your wall.
- Seek advice from a qualified trades person on
how to attach this safety strap to your specific wall.



	AI - DN WAR 310 234-M pg.1
	Sheets and Views
	Model


	AI - DN WAR 310 234-M pg.2
	Sheets and Views
	Model



